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Note: (1) Attempt all quemon 5.

(2) All questions gre eguai marks.
(3} Notations useq h

ave usual meaning.
(4) Assume any rele

vant data, if mzssmg

Q.1

Attempr any two parts. cf the following:
(@)  Explain Stepian Dugmd Theoren; W!th its proof for
re-arrangeable network

Nes £ :

fb)Epram Benes network' & Cantor network.

(c)' Determine the swm,h advantage ratio of 3 stag“
network with N mlets & N outlets for 'u‘:e cases a) ‘ 6
N=128 b)N= 32768_ ’ . -

Q2 4

dempt any two parts of the fo[[owmg _
6
{a) Explam LEE graph and Jacoheous method for—
calculating blockmg prooabﬂr{y -

(b) Derive the exr;ressmn for blocking probabili

ity for
lost call cleared

system with infinite subscribers.



@ () Describe ihe

functions or time sjor inzercha.r;ge {Tsh)
E\L} with the help of diagra_gn. Compare T With space
switching: NS

(b) Discuss architectyre of SS-7¢ Signalling Syst

B mzy @
{¢) Diécuss P télephony. e

Qs Attemp s of the fbiz’awi)zg.'
“fa) Explai_n Pac
- format &

k'q} sivitch?ng by giving a
dr'agram_. -

Ypical paciet
packlef SWitching hetwork scherhatic
(b) Expiain Banya

sofition,

‘) Explain shitfflepe as a Delta .»-':e’:‘.{'br'k.
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